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1. Say which of the following statements are true and which are false (wrong answers are worth -100%)
	
	       true   false


	Old English is a language with free word order.
	□  □ 

	The concepts “basic syntactic order” and “underlying syntactic order” are equivalent.
	□  □

	The most frequent syntactic order in main declarative clauses with two verbs in Old English is SvOV [v = inflected verb; V= uninflected verb]
	□  □ 

	Germanic languages have two basic syntactic orders, which appear in nearly complementary distribution: V2 in main clases and V-Final in subordinate clauses.
	    □  □ 

	V2 syntax is the same as SV syntax.
	     □  □   

	Within Old English subordinate clauses, those which more often present the verb in final position are conditional ones (with gif).
	     □  □ 

	The syntactic order of ProtoGermanic subordinate clauses is difficult to determine, as we lack direct evidence, but we may infer from other sources that it was SOV.
	     □  □


[image: image1.png]2. Link each syntactic pattern in the column on the left with the OE sentence that illustrates it in the column on the right in A) and B) below: (S = subject; v = inflected verb; V = uninflected verb; X = topic; O = verbal complement; pt = particle; [ ] = subordinate clause)
A) 

	XvSO
	… þæt hi mihton swa bealdlice Godes geleafan bodian

	[SvOV]
	… gif hie him þæs rices uþon

	OvSV
	We habbað hwæðere þa bisne on halgun bocum

	[SOv]
	On þære ylcan wucan com sum truð to þæs bisceopres hierde

	SvO
	Hwy is ðis gold adeorcad?


B)
	XvSOpt
	Ic sceal þæra oxena binne mid hiege afyllan

	[SOvV]
	… þæt hi hine ne mehton ferian

	SvOV
	Mid þam þe hi ðis spreacon…

	XSvOV
	Þa forrad seo fierd hie foran

	[SOv]
	Ælce dæge ic sceal on dægræd utgan


3. Say which of the homophonous terms in bold in the sentences below are adverbs and which subordinating conjunctions. What criteria have you used to make your decision?

Þonne = then  or when …?




       
        Conj   Adv

(1)   a.   … & þonne þu hi genumene hæbbe, ahryse þa moldan of…    

□  □ ⁫  
        b.   ... & þonne drig hi on onsceade swiþe þearle. 

        

□  □ ⁫  ⁫
þær = there  or where...?

(2)   a.  Þær com þa micel leoht to þæra martyra lice.



□  □  ⁫
        b.  Hit gelamp þæt an wod man gesæt þær se eadiga wer hine ær gereste.
□  □  ⁫
For þæm = therefore  or because...?

(3)   a.  For þæm sæde Pompeius þæt Godes wundor geworden wæron.

□  □ ⁫  
b.  For þæm Theodor biscop in Hrofesceastre Quichelm to biscope gehalgode.
□  □ ⁫  
Þa = then  or when …?




       

(4)   a.   Ða þis cuð wæs to ðam oðrum scipon...    




□  □ ⁫  
        b.  Ða bohte se abbot Aldulf landes feola & manega    


□  □ ⁫  ⁫
4. What factor determines the inversion (1) or non-inversion (2) subject - verb in the following OE sentences with topicalised elements?
(1)  a.  On þam dæge worhte God leoht, and merigen, and efen.


         X
   v
  S

     O
‘On that day God made light, morning and evening’

       b.   Ðas ðreo ðing forgifð God his gecorenum.



X
      v
   S
       O

‘God gives these three things to his chosen (ones)’

(2)  a.  Forðon we sceolan mid ealle mod & mægene to Gode gecyrran.


     X
  S      v

 C

        C
          V

‘Therefore we must turn to God with all our mind and power’

       b.
Be ðam we magon swið swutole oncnawan ðæt...


     X
   S
v
    C

V

‘We may very clearly preceive by that that...’

5. Fill in the gaps with the correct word or expression:
1. According to Haeberli (2001), the elements which obligatorily force subject-verb inversion in Old English are:

a) Interrogative pronouns (Wh words)

b) The following adverbs: þa, þonne, nu

c) ________________________________

2. The tendency observed in Old English to arrange constituents in order of increasing complexity or syntactic “weight” is known as:

________________________________________________________________
3.  What is missing in the following list of contexts which give way to V1 structures (with the verb in 1st position) in Old English?
      a) Some verbs with special discoursive characteristics, such as ‘secgan’, ‘willan’, or ‘þyncan’

b)  Imperatives

c) __________________________________

6. Explain why the preposition precedes its nucleus in the PP’s in italics in the following sentences (for each example there is a different reason):
(1)   a.  To hwæm locie ic buton to ðæm eaðmodum ... ?


‘To whom do I look except to the humble ... ?
       b.   Ðat fyr getacnode ðone Halgan Gast, ðurh ðone we beoð gehalgode.


‘The fire betokened the Holy Gost, through whom we are hallowed’     
7. Point out as many differences as possible between the word order of the following Old English fragments and Contemporary English:

1. þa wæron hie mid metelieste gewægede 

 X       v       S            O                   V


‘then they were afflicted with lack of food’


______________________________________________________________________________________________________________________________________

2. ... ond him wið gefuhton 
                O
   v
 ‘... and fought against him’

______________________________________________________________________________________________________________________________________

3.    þær wearð Ordheh cyninges þegn ofslagen ond monige oþre cyninges þegnas 


      X      v     
        S


V

          S
‘then king Ordheh’s man and many other of the king’s men were slain’
_____________________________________________________________________________________________________________________________________
8. The following OE fragment contains eight subordinate clauses. Find them and mark the position of the inflected verb in each one of them. Then place them in the correct position in the grid provided. Say whether word order in these examples fits in the position for inflected verbs in other modern Germanic languages. Can you find a global explanation for the diverging patterns?

Þa se þa geseted wæs, comon seofon Breta biscopas and ealle þa geleredestan men, þa wæron swiðost of Boncra byrig. Þære tide Dinoð wæs haten þæs ministres abbod. Þa heo to þæm gemote ferdon, þa comon heo ærest to sumum ancoran, se wæs mid him halig and wiis. Frugnon heo hine and ahsodon hwæðer heo secoldon heora gesetenesse and heora þewas to Agustinus lare forletan. Ondswarede he him: ‘Gif he Godes man sy, fylgað ge him’. Cwædon heo him: ‘Be hwon magon we ðæt witan?’ Cwæð he: ‘gif Agustinus is milde and eadmodre heortan, þonne is he gelyfed þæt he Cristes geoc bere’.
	
	SUBORDINATE CLAUSES

	
	Word order like other Germanic languages
	Word order different from other Germanic languages

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	6
	
	

	7
	
	

	8
	
	


9. Circle all the non-finite verbal forms in the following OE fragment. (Wrong answers are worth -50%):
Ða sende se cyning þusend gewæpnodra cempena þæt hi ðone apostol to him bringan sceoldon. (...) ‘Gif þu ðonne þis minum gode don ne miht, ic tobryte ealle þine godas & þu ðonne gelyf on þam soþan gode þe ic bodie.’ Mid þam þe hi ðis spræcon, þa cydde sum man þam cyninge þæt his mæsta god baldað feolle & sticmælum toburste. 

Se cyning ða totær his purpuran reaf & het mid stiþum saglum þone apostol beatan. & syððan beheafdian & he þa on ðysum dæge swa gemartyrod to þam ecan life gewat (...)

Eornostlice on þam þreotteoþan dæge se cyning astries þe ðone apostol ofslean het wearð mid feondlicum gaste gegrypen & egeslice awedde. Swa eac ealle þa ðwyran hæþengyldan aweddon samod mid him: & urnon hi (...) Ða asprang micel oga & gryre ofer eallum þam ungeleaffullum & hi þa gelyfdon & gefullude wurdon æt ðæra mæssepreosta handum þe se apostol ær gehadode. (...)

We magon niman bysne be ðære apostolican lare þæt nan cristen man ne sceal his hæle gefeccan buton æt þam ælmihtigum scyppende þam ðe gehyrsumað lif & deað. 

(ÆCHom I 447-8)
10. Circle all the inflected verbs in the following fragment from Old English (there are ten). Then:

a) Separate those that appear in main clauses from those appearing in subordinate clauses.

b) Indicate the verbal position in each one of them (SVO, VSO, SOV etc.) and say if that position coincides with that of other Germanic languages.

 Note: in sentences with two verbs make sure you clearly distinguish inflected from uninflected forms.

Ða sende se cyning þusend gewæpnodra cempena þæt hi ðone apostol to him bringan sceoldon. (...) ‘Gif þu ðonne þis minum gode don ne miht, ic tobryte ealle þine godas & þu ðonne gelyfst on þam soþan gode þe ic bodie.’ Mid þam þe hi ðis spræcon, þa cydde sum man þam cyninge þæt his mæsta god baldað feolle & sticmælum toburste. 
(ÆCHom I 447-8)
	MAIN CLAUSES
	SUBORDINATE CLAUSES

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	

	7
	

	8
	

	9
	

	10
	


11. What is missing in the following list of elements whose position is obligatorily to the left of the non-finite verb in Old English in constructions with two verbs?
· Personal pronouns

· Stranded prepositions

· Some adverbials

· ___________________________________
12. Say which of the following combinations are possible and which are not possible in Old English to express: 

A)  … that they had destroyed the building 

B)  ... that they had destroyed it’. 
	A)
	 POSSIBLE
	   NOT
 POSSIBLE
	B)
	 POSSIBLE
	   NOT
 POSSIBLE

	... þæt hie hæfdon þone reced tobrocenne
	
	
	… þæt hie hæfdon hine tobrocenne
	
	

	   … þæt hie þone reced tobrocenne hæfdon
	
	
	… þæt hie hine tobrocenne hæfdon
	
	

	   … þæt hie tobrocenne þone reced hæfdon
	
	
	… þæt hie tobrocenne hine hæfdon
	
	

	   … þæt hie þone reced hæfdon tobrocenne
	
	
	… þæt hie hine hæfdon tobrocenne
	
	

	   … þæt hie hæfdon tobrocenne þone reced
	
	
	… þæt hie hæfdon tobrocenne hine
	
	


13. One of the following syntactic structures (A or B) is much more frequent than the other in Old English to express the translation in bold below. Say which one it is, and briefly explain why:
‘then Caradog, Gruffydd’s son, came up and slew all the men who were working there’ 

            (Anglo-Saxon Chronicle, MS C. 1065)

A)     þa     for    Cradoc Griffines sunu to … &  þæt folc eall ofsloh  þe  þær tinbrode.
         Then     went        Cradoc 
    Griffin GENIT   son       to   …  and    the  people   all       slew        who   there   worked
        

B)     þa     for    Cradoc Griffines sunu to … &  þæt folc eall  þe  þær tinbrode  ofsloh.

      Then     went        Cradoc        Griffin GENIT   son       to   …  and    the  people   all      who  there     worked            slew          

14. One of the following examples is from Old English and the other is from Middle English. Which is which? What syntactic criteria have you used to make your decision?
A)   ... þat   he     ealle his castles    sculde    iiuen  up.

     that    he       all his castles             should       give      up

     ‘that he should give up all his castles’
B)  …gif    hio    ne bið     hrædlice  aweg   adrifen.
     if       she      not-is        quickly        away     driven


     ‘if she is not quickly driven away’
15. Within the following set of eight Old English sentences (which form a continuous text) there are five which represent a considerable deviation from the syntax of most Germanic languages. Find them and briefly explain the nature of the deviation for each one of them:
a) on geswincum   etst  þu   of þære eorðan. 
in sorrow 
           eat   you    of the earth 
‘you shall eat in sorrow from the earth’

_________________________________________________________________________________

b) Þornas and bremelas heo aspryt þe, 
thorns and thisles
      it     brings   you

‘It shall bring forth to you thorns and thistles’

_________________________________________________________________________________
c) and þu etst þære eorðan wyrta. 
and  you eat  of-the-field herb

‘and you shall eat the herb of the field’.

_________________________________________________________________________________
d) On swate þines andwlitan þu brycst þines hlafes, 
In sweat of your face

you  eat
      of-your-bread

‘You shall eat bread in the sweat of your face’,

_________________________________________________________________________________
e) oð þæt   þu   gewende  to eorðan, 
till           you     return        to earth

‘till you return to the ground’ 
_________________________________________________________________________________
f) of þære þe   þu   genumen  wære,
of which         you   taken out      were

‘of which you were taken out.’
_________________________________________________________________________________
g)  for þam þe    þu   eart   dust 
  because            you    are     dust

 ‘because you are dust’
___________________________________________________________________

h) and to duste wierþst.’

and   to dust     return
‘and to dust you shall return’
___________________________________________________________________

16. Point out three syntactic contexts in Old English (at any level: sentence or phrase) in which fully nominal and pronominal NP’s behaved differently.
A)____________________________________________________________________
B)____________________________________________________________________
C)____________________________________________________________________

17. What kind of explanation accounts best for the position of the verbal complements in the following Old English sentence: one based on pure syntax, one based on language processing, or one based on the organisation of discourse? Give reasons for your answer.
Æfter þon   we   ða cynelican burh Porres   mid urum wæpnum  in eodon.


      S

      O



C

  v
‘Afterwards, we entered the royal city of Poros with our weapons.’

18. Give three reasons (from whatever linguistic perspective) why the object hit precedes the verb bær in the following Old English sentence:
Apollonius   hit   bær    on ða stræte

 S            O      v   
          C

‘Apollonius bore it out on the street’

1._____________________________________________________________________
2._____________________________________________________________________
3._____________________________________________________________________
19. What syntactic rule, characteristic of all Germanic languages, do the following Old English sentences seem to violate? Can you find an explanation for this fact?
a)   Hie    comon  þa      to þære stowe   þe    him    gesweotolode    God.

They    came    then        to the place           that     him      revealed                 God

‘Then, they came to the place which God had revealed to him’
b)  Þa       þæt   ongeat        se wælhreowa cyning Ðeodric,    þa      het         he ...

      When     that   perceived         the cruel king Theodric
                      then   ordered        he ...

     ‘When the cruel king Theodric perceived that, then he ordered to...’
20. What explanation does Allen (1995) provide to account for the position of the topicalised objects (in bold) in the following sentences from Old English?

Ða synfullan   he   gebigð     to dædbote       and     ða rihtwisan   he   geeacnað 

 the sinful              he    inclines       to repentance,       and        the righteous       he     increases 

mid maran rihtwisnysse.

       with greater righteousness

‘The sinful he inclines to repentance, and the righteous he increases with greater righteousness’.
21. Fill in the gaps with the correct word or expression:

The tendency to establish the relationship subject-predicate as soon as possible in a sentence is known as ______________________. Some of the movement rules which applied in Old English to ensure such operation and avoid subsequent processing and parsing problems were ______________________ and _________________________. A characteristic of such rules was the postposition of _________________ constituents (often with an internal sentence structure), to avoid ____________________________.

22. What pragmatic-discoursive explanation does Allen (1995) provide to account for the position of the verb sægde in the fragment in bold below?

Þa com he on morgenne  to þæm tungerefan, þe his ealdormon wæs; sægde him hwylce  gife he onfeng.







 (Bede)
‘Then he came in the morning to the town-reeve, who was his ruler, (and) said to him what gift he had obtained

23. How many of the following pragmatic-discoursive principles can successfully account for the position of the indirect object hine in the following OE sentence? Discuss.

Gregorius   hine    sende   þæt gewrit

       S
           IO            v
   O


 Gregory          him         sent       the letter
a) Animated First

b) End-Weight Principle

c) Given-New

d) Task-Urgency Principle

24. Give two reasons (from any linguistic perspective) why the object wintersetl precedes the verb nam in the sentence in bold below:

874. Her for se here from Lindesse to Hreopedune  &  þær  wintersetl  nam.








        C           O           v
‘In this year the army marched from Lindsey to Repton and took winterquarters there’

1.

2.

25. Link each of the syntactic concepts in the column on the left with the example that illustrates it in the column on the right.
A    Sentence brace


      and þone bur beeode ær hine þa men onfunden               1
B    Split coordination


      se micla here, þe we gefyrn ymbe spræcon...    
           2
C    Omission of the object

      he ne meahte ongemong oðrum monum beon
           3
D    Topicalisation inside subordination
      genim þære ilcan wyrte and wyl on wætere
           4
E    Stranded preposition


      þa þe on Norþhymbrum bugeað and on East Englum      5
26. One of the following texts is Old English and the other one is Middle English. Which is which? What criteria have you used to make your choice?

	A
	B

	For þa þe king was in prisun þa wenden þe eorles & te rice men þat he neure mare sculde cumen ut & sæhtleden wyd þemperice & brohten hire into Oxenford & iauen hire þe burch. Þa þe king was ute þa herde ðæt sægen & toc his feord & besæt hire in þe tur & me læt hire dun on niht of þe tur mid rapes & stal ut & scæ fleh & iæde on fote to Walingford. 
	Þa se cyning þa þas word gehyrde, þa andswarode he him and cwæð, þæt he æghwæþer ge wolde ge sceolde þam geleafan onfon þe he lærde; cwæð hwæþere, þæt he wolde mid his freondum and mid his wytum gesprec and geþeaht habban, þæt –gif hi mid hine þæt geþafian wolden-, hi ealle ætsomne on lifes willan Criste gehalgade wæren. 
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